Addition & Subtraction
[bookmark: _GoBack][image: ]Home learning: Maths – Summer 2 Week 6 – Week Beg: 06.07.2020
Below are some activities you can use when learning at home.
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Wednesday-Subtract Two 4-Digit Numbers
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Friday –Subtract Two 4-Digit Numbers
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Put these numbers in order starting Put these numbers in order starting
with 1,025 and ending with 1,475. Some of | with 9,713 and ending with 5,713. Some of

the numbers have been covered. the numbers have been covered.
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Haider says,

When | subtract 700
from 5,352, then add
50, | get 4,652.
e

Haider

Correct Haider’s answer and explain his
mistake.




image6.png
What number is missing from the What number is missing from the
calculation? calculation?
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What number is missing from the What number is missing from the

calculation? calculation?
5 4 3] | 37 3 8
+ 1 5 51 + 1 ]5 0
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What number is missing from the What number is missing from the
calculation? calculation?

9, |67 + 381 = 9948 4,258 +55[ |1=9,839
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Delilah thinks that an exchange takes
place from the hundreds column in the
calculation below.

Is she correct?
Prove it.
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True or false? The difference between True or false? The difference between
2,237 and 1,164 is 1,133. 1,354 and 1,227 is 127.
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True or false? The difference between

8,214 and 3,192 is 5,022.
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True or false? The difference between

6,028 and 1,904 is 5,924.
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Circle the correct answer to the
question below.

[ o | 2|

[A.2815] [ B.2815 | | c. 2,805 |

Circle the correct answer to the
question below.

[ 2 | se2 |
[a1537] [B.25537 | [c. 3597 |
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Class 4 are given the following
calculation. Zainab says,

We need to exchange
one of the tens for ten
ones.

8 2 1 9
- 5 0 4 ¢

Is she correct? Explain your answer.
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Complete the calculation below.
What is the value of the circled digit?
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Complete the calculation below.
What is the value of the circled digit?
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True or false? The following True or false? The following
calculations are correct. calculations are correct.

A. 3,279 + 3,748 = 4,569 + 2,458 A. 2,363 +2,859 = 3,569 + 1,753

B. 7,328 + 1,868

7,295 + 1,911 B. 6,562 + 1,589

7,963 + 188
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How many exchanges occur in the How many exchanges occur in the
following calculations? following calculations?

A. 3,891 + 569 = I:I A.5963 + 857 = I:I

B. 6,184 + 1,907 = B. 1,086 + 5,259 =
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Use the digit cards to create addition
calculations using two 4-digit numbers
with three exchanges.
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Spot the mistake.
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Use column method to solve:

6,301 - =4,275
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Use the column method to solve:

9,024 - =1,789
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Use the bar model to solve: Use the bar model to solve:

7,008 - 1,329 - =4,369 5,001 - 1,329 - =2,587
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Jasmine has these calculations.

A. B.

She thinks one exchange has taken
place in each calculation. Is she correct?
Prove it.
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Starting with the number below,

complete the calculation.

+ Add40

What is the answer?

Starting with the number below,
complefe the culculuﬁon.

Subtract 300

What is the answer?
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Match the calculation to the correct
answer.

Add 2,000 to 6,705, then

A. add 300.

4,005

Match the calculation to the correct

answer.

A.

Add 7 to 4,970, then add

200. 2,975

B Subtract 600 from 4,645,

then add 4. 7,005

c Add 3,000 to 1,205, then

subtract 200. 4069

i
I

C.

Subtract 500 from 3,445,
then add 10. 3.995
Add 3,000 to 1,195, then

subtract 200. 5177




